Discussion Section 8 (10/23/2008)

Exam Questions:

class IntList2 {

1. class IntlList { public IntList head;
public int head; public IntList2 tail;
public IntList tail; }

}

static IntList zip(IntList2 L) { ... }
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public class Device {
protected int[] operands;
protected boolean[] haveOperand;
protected Device outputDestination;
protected int destinationInputNumber;
protected abstract void compute() ;

public final void input (int inputNumber, int wvalue) { ... }
public final void connect (Device dest, int inputNumber) ({
}
Trees: 0
e Traversal algorithm: D @) 3

o Depth-first
o Breadth-first

e Traversal order:

o Prefix

o Infix (a) Embedded child pointers
(+ optional parent pointers)

o Postfix
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(c) child/sibling pointers

(b) Array of child pointers
(+ optional parent pointers)

0[1]2]3]-

(d) pre-order array
(complete trees)




